
   

SP3734

PACKAGE COMPONENTS

1

1. Anchor Stake (Either 42" or 32" Long) (1)

2. Bolt, 3/8-16 x 2" (2)

3. Nut, 3/8-16 (2)

4. Lock Washer, 3/8" (2) 

5. Flat Washer, 3/8" (2)

6. Fender Washer, 3/8" (2)

2
3

5

IMPORTANT SAFETY INFORMATION

READ AND COMPLETELY UNDERSTAND ALL INSTRUCTIONS BEFORE INSTALLING PRODUCT. FAILURE TO FOLLOW THESE 
INSTRUCTIONS MAY RESULT IN PERSONAL INJURY OR DEATH.

This product is intended for use by trained technicians only. This product should not be used by anyone who is not familiar with 
and not trained to use it. When working in the area of energized lines, extra care should be taken to prevent accidental electrical 
contact. Be sure to wear proper safety equipment per your company protocol. These instructions are not intended to supersede 
any company construction or safety standards. These instructions are off ered only to illustrate safe installation for the individual. 
PLP products are intended for the specifi ed application only. Do not modify this product under any circumstances. Do not reuse 
or reinstall any PLP product unless that capability is expressly indicated in the product’s Installation Instructions. For proper 
performance and personal safety, be sure to select the proper PLP product before installation. PLP products are precision devices. 
To ensure proper performance, they should be stored in cartons under cover and handled carefully.

!

6

2
4

   

1

3 4

5 6

Tools Required:
• 9/16" Socket Wrench

• Crescent Wrench or 9/16" Box Wrench

COYOTE® PEDESTAL
ANCHOR STAKE KIT

INSTALLATION INSTRUCTIONS



2

SP3734 - COYOTE® PEDESTAL ANCHOR STAKE KIT

Using the back half of the base, create an 
impression in the trench to determine the position 
of the anchor stake. For harder ground use a tool 
to mark the stake location. 

NOTE: The base should be installed in the 
trench so that existing conduits or feed cables 
are towards the rear of the base. 

1

The anchor stake will attach to the rear half 
of the base with the fl at edge sitting in the 
stake channel. 

2

Stake
Channel

Install the anchor stake into the trench following 
your standard company practices. Ensure the 
anchor stake is level per company practice. 

3

Anchor
Stake



3

SP3734 - COYOTE® PEDESTAL ANCHOR STAKE KIT

Attach the rear half of the base to the installed 
anchor stake using the hardware provided. 

4

Bolt

Fender
Washer

Anchor
Stake

Flat Washer

Lock Washer

Nut



4

SP3734 - COYOTE® PEDESTAL ANCHOR STAKE KIT

+1  440 461 5200
INFO@PLP.COM 
PLP.COM

GLOBAL HEADQUARTERS  
660 BETA DRIVE
CLEVELAND, OH 44143 

© 2024 Preformed Line Products 
SP3734


